
Renishaw plc

New Mills, Wotton-under-Edge, 
Gloucestershire, GL12 8JR 
United Kingdom 

T +44 (0)1453 524524 
F +44 (0)1453 524901 
E uk@renishaw.com

www.renishaw.com

Instruction leaflet 
H-1000-5054-03-A

ACR1 / ACR3 / FCR25  
port replacement

For worldwide contact details, please visit our 

main website at www.renishaw.com/contact

Renishaw part no:   H-1000-5054-03-A

Issued:   10.2015

Renishaw racks

Renishaw racks allow fast repeatable exchanging of probes and 
styli without the need for manual intervention.

This leaflet covers the replacement of ports for ACR1, ACR3 
and FCR25 racks.

ACR1 rack

ACR3 rack

FCR25 rack

© 2003 - 2015 Renishaw plc. All rights reserved.

This document may not be copied or reproduced in whole or in part, or transferred to any other media 
or language, by any means, without the prior written permission of Renishaw.

The publication of material within this document does not imply freedom from the patent rights of 
Renishaw plc.

Disclaimer

RENISHAW HAS MADE CONSIDERABLE EFFORTS TO ENSURE THE CONTENT OF THIS 
DOCUMENT IS CORRECT AT THE DATE OF PUBLICATION BUT MAKES NO WARRANTIES 
OR REPRESENTATIONS REGARDING THE CONTENT. RENISHAW EXCLUDES LIABILITY, 
HOWSOEVER ARISING, FOR ANY INACCURACIES IN THIS DOCUMENT. 

Trademarks

RENISHAW® and the probe emblem used in the RENISHAW logo are registered trademarks of 
Renishaw plc in the UK and other countries. 

apply innovation is a trademark of Renishaw plc.

All brand names and product names used in this document are trade names, service marks, 
trademarks, or registered trademarks of their respective owners.

Windows XP, Windows 2000, Vista and Windows 7 are registered trade names of the Microsoft 
Corporation.

All trademarks and trade names are acknowledged.

Warranty

Renishaw plc warrants its equipment for a limited period (as set out in our Standard Terms 
and Conditions of Sale) provided that it is installed exactly as defined in associated Renishaw 
documentation.

Prior consent must be obtained from Renishaw if non-Renishaw equipment (e.g. interfaces and/or 
cabling) is to be used or substituted. Failure to comply with this will invalidate the Renishaw warranty.

Claims under warranty must be made from authorised service centres only, which may be advised by 
the supplier or distributor.

Care of equipment

Renishaw probes and associated systems are precision tools used for obtaining precise 
measurements and must therefore be treated with care.

Changes to Renishaw products

Renishaw reserves the right to improve, change or modify its hardware or software without incurring 
any obligations to make changes to Renishaw equipment previously sold.

Patents

Features of the Renishaw autochange rack systems and associated products and equipment are the 
subjects of the following patents and patent applications:

CN101675318BEP2142881IN2008/132484JP5615696US8430331

CN100542740EP1463604JP4758065US7722515



Replacing an ACR3 or FCR25 port

CAUTION:  As the ACR3 or FCR25 is positioned within 
the working envelope of the CMM, the CMM must be 
stationary throughout this procedure.

1. Release and remove the two M3 × 6 mm long screws [1] 
and remove the port(s) [2] to be replaced.

2. Loosen the M3 × 6 mm long screws [1] securing the 
remaining ports in preparation for final alignment.

3. Position the replacement port(s) onto the rack [3] and 
loosely screw in place. 

4. Open all the port lids [4] using the lid clips [5] supplied with 
the rack.

5. Place a rigid straight edge [6] along the underside of all 
the ports [2] and tighten all M3 × 6 mm long screws [1] to 
0.3 Nm.  Ensure that the ports are correctly aligned.

6. Remove the straight edge [6] and lid clips [5].

7. Re-datum the rack in accordance with the instructions 
provided in the appropriate guide:

• Autochange system user’s guide (for ACR1 information) 
(Renishaw part no. H-1000-5090)

• ACR3 system installation and user’s guide 
(Renishaw part no. H-1000-5087)

• SP25M installation, integration and user’s guide 
(Renishaw part no. H-1000-5104)

1. M3 × 6 mm long screw

2. ACR3 port

3. ACR3 

!

Replacing an ACR1 port

CAUTION:  Disconnect power from the ACR1 before 
replacing ports.

1. Remove the two M3 × 6 mm securing screws as shown in 
the figure below, and remove the port(s) to be replaced.

NOTE:  On some racks the ports may have four holes however 
only two will be used.

2. Loosen the securing screws on the remaining ports in 
preparation for final alignment.

3. Position the replacement port(s) onto the rack and loosely 
screw in place. It is very important that the ports are 
correctly aligned.

4. Wedge open all the port lids using the lid clips supplied with 
the ACR1.

5. Place a rigid straight edge along the port datum position as 
shown in the figure above and tighten all securing screws to 
0.6 Nm / 0.7 Nm.

6. Remove straight edge and lid clips.

7. Check that the run-out across individual ports does not 
exceed 100 µm.

8. Re-datum the rack.

!

ACR1

FCR25

ACR3

1

2
4

3

6

1

5

4

4. Port lid

5. Lid clip

6. Straight edge


